Name _____________________
11.3 Why do industries have different distributions?
A. Situation Factors
a. One objective _________________________________________________________________________
b. If the cost ____________________________________________________________________________
c. Conversely, if _________________________________________________________________________
d. If the weight __________________________________________________________________________
e. The North American ____________________________________________________________________
f. Concentration mills _____________________________________________________________________
g. The concentrated copper ________________________________________________________________
h. 2/3rds of U.S. _________________________________________________________________________
i. Metal processors ______________________________________________________________________
j. U.S. steel industry ______________________________________________________________________
k. The main inputs _______________________________________________________________________
l. Thus new _____________________________________________________________________________
m. Iron ore came from _____________________________________________________________________
n. Recently, _____________________________________________________________________________
o. Successful ____________________________________________________________________________
p. Mini-mills ____________________________________________________________________________
q. The cost of transporting ________________________________________________________________
r. Soft drink bottling _____________________________________________________________________
s. Soft drink company manufacture _________________________________________________________
t. Filled containers _______________________________________________________________________
u. Bulk gaining industries __________________________________________________________________ 
v. A prominent example ___________________________________________________________________
w. Common fabricated ____________________________________________________________________
x. Motor vehicles ________________________________________________________________________
y. Proximity to ___________________________________________________________________________
z. Optimal factory location_________________________________________________________________
aa. Single market _________________________________________________________________________
ab. Part makers ___________________________________________________________________________
ac. Food producers ________________________________________________________________________
ad. The daily _____________________________________________________________________________
ae. Air is normally _________________________________________________________________________
af. Regardless ____________________________________________________________________________
ag. Important ____________________________________________________________________________
B. Site Factors
a. Locations _____________________________________________________________________________
b. The cost of conducing ___________________________________________________________________
c. Modern ______________________________________________________________________________
d. Land is _______________________________________________________________________________
e. Industries may be ______________________________________________________________________
f. Industries with ________________________________________________________________________
g. Industries may locate where _____________________________________________________________
h. Textile and clothing ____________________________________________________________________
i. Asian countries ________________________________________________________________________
j. Modern factories ______________________________________________________________________
k. U.S. textile have changed ________________________________________________________________
l. Their claim ___________________________________________________________________________
m. Southern workers _____________________________________________________________________
n. Textile is located ______________________________________________________________________
o. The wool industry _____________________________________________________________________
p. Companies may become ________________________________________________________________
q. Traditionally __________________________________________________________________________
r. 1/4th of all ____________________________________________________________________________
s. Enterprises may not ____________________________________________________________________
t. Local and national gov’ts ________________________________________________________________
C. Obstacles to Optimum Location
a. Footloose ____________________________________________________________________________
b. An executive __________________________________________________________________________
c. Large corporations _____________________________________________________________________

11.4 Why do industries face problems?
A. Industrial problems from a global perspective
a. Global capacity ________________________________________________________________________
b. Growth formula _______________________________________________________________________
c. Demand has fallen in MDCs______________________________________________________________
d. Saturation ____________________________________________________________________________
e. Consumers in MDCs ____________________________________________________________________
f. Changing technology ___________________________________________________________________
g. Two trends ___________________________________________________________________________
h. This global diffusion ____________________________________________________________________
i. Steel mills in __________________________________________________________________________
B. Industrial Problems in MDCs
a. Industries in MDCs must_________________________________________________________________
b. NAFTA _______________________________________________________________________________
c. The EU has ___________________________________________________________________________
d. The free movement ____________________________________________________________________
e. EU slaps _____________________________________________________________________________
f. USX _________________________________________________________________________________
g. Some transnational ____________________________________________________________________
h. Trans. Corps. Open _____________________________________________________________________
i. French industry ________________________________________________________________________
j. European Regional Development Fund _____________________________________________________
k. Industries that locate ___________________________________________________________________
l. Regional development __________________________________________________________________
C. Industrial problems in LDCs
a. Industrial development not ______________________________________________________________
b. LDCs lack _____________________________________________________________________________
c. New industries must sell _________________________________________________________________
d. Economic geography factors _____________________________________________________________
e. Trans. Corps have______________________________________________________________________

